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SECTION - I
e - |
CHILD DEVELOPMENT AND PEDAGOGY
T fererma wa e

There are 30 questions in all in this section.
All questions are compulsory.

A EUE A T 30 TH 7 |
et o e |
1.  Insight theory of learning was propounded by whom ?
(A) Wolfgang Kohler (B) Jerome Bruner
(€) Martin Seligman (D) Erik Erikson
TR o1 STAGTE fagT ferweh grr wfaaTfea fopam e o 7
(A) SIEHIT BB (B) W 5
(C) HIfEA Hferm (D) Ui Tiener
2. Which is the final step of problem solving approach of learning ?
(A) Following logical sequence (B) Knowledge of concepts and principles
(C) Verification of performance (D) Demonstration of activity
JTRATH < THET-FHIIH IUTH 1 J<H ST DH A8 7
(A) dfhe 3HH T FTTER (B) YT TUT FHwi o1 T E%E
(C) TaTEa &1 T (D) Teranfarfer &1 wesia Oy
3.  Use of defense mechanisms as a strategy for adjustment was originally introduced by
whom ?
(A) Abraham Maslow (B) Sigmund Freud
(C) Carl Rogers (D) Jean Piaget

TR o foft T I & €9 | 1@ iaaal o TN I Hifeleh €9 & fohdeh gr1 Tqa
fpa T o 7

(A) 3TSITEY A&l (B) famug wrre
(C) T Uord (D) i e
4.  Which of the following is NOT a part of Thorndike’s laws of learning ?
(A) Law of readiness (B) Law of association
(C) Law of exercise (D) Law of effect
=1 o @ o o1 e % Hied & fremi o fgem g g 2
(A) Tl 1 fam (B) @rE=d & frm
(C) 3rwmE &1 frm (D) W& 1 Frm

5. Which of the following is a psychological factor influencing classroom learning ?
(A) Health, age and gender (B) Level of maturity
(C) Motivational and emotional state (D) Meaningfulness of the contents

3 5 & i T e | g w1 I S STeT BAISRITeh Re § 7
(A) TETEA, IY T SIUET (B) uftgerraT w1 &
(C) SATTSRUMH T HaTTTeHeh 3Tawel (D)  ferwerereq shi aveiquian
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Which teaching-learning method was introduced by Dwight W. Allen ?

(A) Micro teaching (B) Team teaching

(C) Brain storming (D) Interactive teaching
aTEE Tocy, Vet o I shid Tt foreqor—arfermy fafer seqa i g 2
(A) HeH Tareror (B) T« freqor

(C) Hferss fawera (D)  31=d:fsha fareqor

Which are the three important components of motivational cycle ?
(A) Learning, reward and satisfaction

(B) Need, drive and incentive

(C) Motive, goal and feedback

(D) Achievement, approval and affiliation

NI <5k o <fiF HEwaqul Tesh HH T & ?

(A) 3T, JUEhR AT |q
(B) ATEYIehdl, A1 AT TcHTE

(C)  ANTRYT, |e aT wiagfe E_’g;%
(D) 3UAfeY, ITHIET qT HeeH R

Which of the following is an example of extrinsic motivation ?

(A) Need for achievement (B) Anxiety
(C) Level of aspiration (D) Reward
1 1 & 6 = AT ST 1 3T B 7

(A) SUATY hi TETIhAT (B) Tam=m
(C)  FHiE &R (D) TR

Which of the following is NOT a type of teaching according to stages of teaching ?

(A) Understanding stage (B) Demonstration stage
(C) Memory stage (D) Reflection stage
{3 & i o 3 Tl % 3mmer ot freor 1 SR T R 7

(A) YT ER (B) WeIH &

(€) Hfd &R (D) form &R
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10. National Curriculum Framework was introduced in which year ?

(A) 2001 (B) 2005
(C) 2004 (D) 2008
T e e ) fRm A i e R T 7
(A) 2001 (B) 2005
(C) 2004 (D) 2008

11.  Which assessment type is NOT related to teaching-learning process ?

(A) Achievement (B) Continuous
(C) Clinical (D) Remedial
JTehel 1 <hIF &1 Jehr T3reror- srferm wiskan & wrafRa € 2 7
(A) 3rafey (B) @aq

(C) i (D) STIRIHS

12.  Main objective of action research is

(A) Activity (B) Diagnostic
(C) Descriptive (D) Transformative
[ERICERCErRIE ARt c i S o

(A) Torafafy (B) et

(C) ferarworenss (D) ®UHR

13.  Which of the following is NOT true for the construction of achievement test ?

(A) Reliability (B) Evaluation
(C) Validity (D) Objectivity
Iycrfey gliequr & fafn & e A e o A8 & 7
(A) Tereear (B) HATHRA

(C) dyar (D) SEHEa



C

14.

15.

16.

(6) PL-2
Which of the following is NOT a stage of psychosexual development propounded by

Sigmund Freud ?
(A) Phallic stage (B) Anal stage

(C) Oedipus complex stage (D) Latency stage
T Wi g wfqurfed TcifiTes o S seren A d g s @ TEi g 7
(A) hieteh e (B) TS e B4

(C) sfeum Sirgeiay TaE (D) e JFereRm

Which concept is NOT related to Jean Piaget’s Theory of Cognitive Development ?
(A) Schema (B) Acquisition
(C) Assimilation (D) Accommodation

S fUamst & g TRt o g @ & ©t stauamon aefRa i 2 ¢
(A) whiml (B) rfermren

(C) HATHHATHIT (D) =Fa¥qmEAd

Pair of genes that occupy a specific location on a particular chromosome and control the

same trait is termed as

(A) Karyotype (B) RNA
(C) Allele (D) Autosomes

ST 1 ST, S oIy ured W ue fafkre v steyfed siar g aun 99 E 07 S FHEfea
AR, HAACE |

(A) HHTET (B) INTT,

(©) Tt (D) ARrEg
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17.

18.

19.

20.

)

Individual differences in career choices are explained by
(A) Differences in cognitive abilities

(B) Temperamental tendencies

(C) Differences in cultural background

(D) Differences in aptitude

STIET I | A ferdeh afir=arat sl f gro awemn San @ —

(A) TIHTCHS JrIaratt § 3= (B) TR yg et

(C) Hrpferep TBYfH & 3 (D) Sfrerman H 1=

Role of environment in child development is best reflected by

(A) Temperamental tendencies (B) Personality disposition

(C) Primary reaction patterns (D) Habit formation

o1 fgehra O araTeRer A gfiehl % g Aed TE 9 § widafafed gt |
(A) @IETd SgREr (B) SHfdaed <l Wepfd

(C) wnfires gfafskan = adis (D) 3Ted fmfor

Which statement is NOT true as a principle of development ?
(A) Every stage is equally important for development.
(B) Development is the product of maturation and learning.
(C) There are individual differences in development.

. EiE
(D) Developmental patterns are predictable. E‘%ﬁj
T o Trom S ®U d B AT HST TA T @ 7 '

(A) Toepma = ford Tish Sreeen auH &9 & Hewyul # |
(B) Taehmar, gitaereran qerm Hig 1 afom 2 |

(C) Torsprar T suferaral ferfirtand 1t € |

(D) ferehra < WY ETA B1d & |

Theory of moral development was propounded by whom ?

(A) Robert J. Havighurst (B) Lawrence Kohlberg
(C) Elizabeth Hurlock (D) Lev Vygotsky
Afcreh Terhra o1 g fepwreh g wcraiea fomam o 7

(A) TS, gfermeed (B) <N higerant

(C) TASTE &eAleh (D) oI IRATICGh
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22.

23.

24.

25.
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Which intelligence theory was proposed by Robert J. Sternberg ?
(A) Two factor theory (B) Multifactor theory
(C) Triarchic theory (D) Hierarchical theory
Tee . weHat gRI gfg 1 A @ g sarfera femam o 2
(A) Teors g (B) g fagr
(C) Tremam fagr (D) UETIsRH g

Which of the following is a performance test of intelligence ?
(A) Jalota General Intelligence test (B) Bhatia Battery

(C) Army Alpha test (D) Draw A Man test

et & B w1 g 1 FraRy wam 2 ¢ _
(A) ST 99T §fg Wi (B) wifean aed %%ﬁ?
(C) ATHT 37ew®T qheqor (D) ST T AT wequ

Which of the following concept is NOT true for the nature of individual differences ?

(A) Normal probability (B) Learning similarity

(C) Variability (D) Interrelationship of traits
faqrd fafH=Tarsti sl Jehid o fordl f § § SF € S@yron 9 81 § 7
(A) T GrTedl (B) AT qH™Cr

(C) TorarerTefierar (D) SfieroT 1 STEw=Y

Who has NOT propounded the trait theory of personality ?
(A) Paul Costa & Robert McCrae (B) Ramond Cattell

(C) Hans Eysenck (D) Gordon Allport
fedea w1 Sfterur fargr=a fopem wfaurfea 72 feran @ 2

(A) Uit ST 9 e Hehsh (B) HUE hed

(C) &9 ABAH (D) A ATadre
Which personality test is valid for clinical diagnosis ?

(A) MMPI (B) 16PF

(C) EPPS (D) TAT

I T SAfefed T AeTHeh g & fer da 8 7

(A) TH.UH G376, (B) 16 H.U%.

(C) 3.i.dua. (D) ATH.
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26.

27.

28.

29.

30.

)
Which element of maladjustment is specifically related to decision making ?
(A) Stress (B) Frustration
(C) Anxiety (D) Conflict
FHETRISH T I &1 aed foros &9 3 fooia oF & a=fRa 2 2
(A) T (B) $UT
(©) fam D) &3
According to J.P. Guilford, which is NOT the characteristic of creative children ?
(A) Empathy in thinking (B) Multiple solutions to a problem
(C) Flexibility in thinking (D) Originality in thinking
.. FeTHE o STTER, TSI STeteh] ! eyt i #t T8 7 ?
(A) Taa o wEfa (B) THET % gAY I
(C) Ta=  er=fiama (D) Ta & difereran

Trisomy-21 is termed as

(A) Klinefelter’s syndrome (B) Sickle cell disease
(C) Turner’s syndrome (D) Down syndrome
2TSETHI-21 1 T ST 2

(A) FATETheel HeAeTul (B) Taspat o T

(C) TR HAT (D) ST TA

Which measure is NOT relevant for the education of gifted children ?

(A) Enrichment of Curriculum (B) Remedial teaching
(C) Grade acceleration (D) Special classes
ferrerTed sTetent =61 e sk fordl siv | Sur wrEfies TE R 7

(A) UTETsHH i Tgfg (B) 3URNIHS T
(C) oioft 3=fa (D) fomiy ermd

Which disorder is a type of learning disability ?

(A) Cretinism (B) ADHD

(C) Dyslexia (D) Autism

i H forpfr ST S1eFmaT 1 T TR R ?

(A) whiefosH (B) TETHE

(C) Temfamn (D) 3iffesH
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«us - 11
HET -1

&=

THEUSH FA30 THZ |

Tt w9 et 2 |
e & | w1, TS SR 3R s i TeedT 1 e e fafy @ sor fren 2
(A) STee IS (B) of&e frem
(C) Tepuer e fafu (D) WSi%e ggfd

T T b YT UL 3T STt 1 == Hid T S TG AT1ET —
(A) e <t v foerse B =fe |

(B) hferar e & T HBm A |

(C) hferaT < 9T HelT TR & 3% & | E-’gﬁ'?
(D) ShferdT sheuT STd | fereror T8 i # | '

Teremeff =l & @ ford 3R 3T oEa Hivet § R fasm g 31mevas § —
(A) 3reaTaes fomeff farfty, sreq T ae T <6t TRIfaai 1 T hid T |
(B) 319 oi@H i W 3T e e <ht < |

(C) Taamefi & T wemyfa saer & fohan 5 |

(D) her | Iferd wefer e s 3UeT &l 9 |

Terganeff § yga st foerfea e 2q 3faa sua 2
(A) TEIhTe H T T&deh o, Tg- 3T AT 3Treseres arft @it o1 3Taer e S |
(B) 31eATIeh gRT STIYTROT <1 &4 &1 i1 I |
(C) Taameft arefg wreg I=mon i 3uem i < |
(D) STEATIH GRT SHYEH SFER T& fehal I |

fferiga o & wrqwT fe=dt fRegor 1 g 2

(A) oA ettt < srasmrierenen | (B) Uil shi 3ferehen

(C) SREEE! &1 3E (D) &= I&ha v ! 9 T8 & |
e = | s freor wgfa & wafait w= 2

(A) ot (B) UIgd-Jih
(C) WS (D) wTeA
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37. Trafafad @ 9w fomiy TR =1 v freqor anem 8 Soreest adam | fommer fireqor o weifies

TR i B 5t feAT @R
(A) e (B) <efifers
(C) 3R &8 Mo (D) JuREHTE

38. w1 fiveror & grO forenfofi o Wi 9 TE hivter qe IR Bl wd ATl | fod
forepTer g3 B, 3Heh! AMIfird THeHM Td HH B FH A FE HH AT S 7

(A) I[N - TREN (B) TN uitEaq - faferen

(C) 3rosedn - foemor (D) | 3TR ATIT G YTed AT sl SRS
39. 9T 18701 o6 &7 § {19 <kl weifereh YA | off S areft fafa s am g -

(A) HeHTHS (B) e fafy

(C) e wiieq (D) WTeHTcHS

40. ‘afe foemeff FHmEST @ w9 © &, T B R h 2 Iig B & D, 3Tk Faen # 7o
aierd 81 w1 R, @t Freferiad e siom gae =g ;
(A) ToraTeges 3y | (B) SUERIcHS 18T | OEAD]
(C) SohTS UT3 IS T AN | (D) Terermer fmior =t | E%?

frfeTRaa et 3 STER T 97 T 41 § 50 G o I GIIT -

“Grit Sfed | TEA B 3T GW FEd  HA & A 2 | S Bl § g@ A1 §@ Hl Sl
I B 2, T8 ST & S 2 St @ | Sl % T g g ¥ 2w <h) ety an g b sreen
T g a1 ‘3! AT frohel ugar B | 361 g & 3T e Tehdl ol TEEAT ¥ §H 319 o= i e
T o o0 AT 61 T o § | 7% 1 g2 Wifass stfireater i wma | 319 forfiga sfireafa o forg
B AT(eq 7o To=IRi Sl SHUSGAT <ot WG oh 3Tehel HTHT 1 SN i | I[G T 3R Tree foreH
T Y18 L | 3 S U@ B & o g g 1 9gd & 7 dies @ forg T ud | 389 fore wed vee
Topeft oft fowr X g9 wehmvTa @ famaa -1 61 St Bt @ | TR ot et we gam fewm o aftwes
B ST ], a9 forrmi & 319eRet S1egl <1 TS Tohal ST 8 TR 99T & Her for@n S 17

41. T@ifera ‘Hfeft s &a 2 —

(A) 3I=I" (B) Tda™

(C) Yfewm (D) ferur
42. ‘TR 1 foeim B -

(A) iget (B) faots

(C) fafea (D) 3R
43. ‘Fo’ wiee 1w gfu-fa=ae B -

A) faq+a B) W+

(C) e+ (D) %rr\+ T
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‘stfvreafea’ wmfees 9e | w9 fafga g —

(A) T&1 (B) 3r=rRfivTE

C) &% (D) wgsife
e o aem e 2 -

(A) femm (B) WR

(C) IFMEE (D) 48

‘SR 31ec & T IiEaTE @ —

(A) TG, &7, IUSTHA (B)  3TEee, ®107, SATITET
(C) aTfer, =aienm, strfearr (D) 37T, UTIR, TR
R R R e T E_’g%
(A) HiT (B) T (=
(C) Tise (D) R

‘7 foraml o1 Iehe i & ToTu o area 1 g8 oid &' — 38 haEd &
(A) w@-aud (B) SUHTAT

(C) W (D) WETRieTd
freferfiaa & @ wemreff srsc 7 2

(A) ¥ (B) TWvE

(C©) wIqrd (D) EHH

SR o T R He 8 7 W H @ A1 g i e | g 9% 3N | A fea vearg I
T@iferd 3eg 3 —

(A) Stifcereres E=1 (B) U

(C) dereTereh H (D) AT

Frferfaa e o 3R W 9 ST 51 9 55 9 o ST AN
“Ig @ B I Gl 7 IW F T fah 0 9 F giaen g1 78 7, gt ht e Hrhl

TRt Tl U HH-GUT U ST T €1 T R - Sfoh T T Y g8l T W @eRi whl W
TR QR o I U 1 U1 STTHM & T 8 | 98l 98 GladT T8l oft | 319 a1 %3 3T@a & U feoelt 3
IR B & 3T < o ol el | off 57 o 78 o fed 9T € | 39 O | W T T & W@ Hl 9el-
TS o 1Y TEER GE-T¢ 31 Thd @ | TR B STEER 70 FUIGhH T T63 $H! TE TehIIa hid
§ | 3o e T STEeR At 319 JAR e 3N B & qun yeRifd w3 A § 1| 3Tl srEen
fg o T8l SR 39 Tk 1 ST fohall | 98 =13 H AR oA ST o 3R 36! foeett
I -TTH ferehel T TERTUT IATOT o T[STTe § BUAT o7 | 316 36 qohr1eh ol SEIUTA T Tt &1
TSR T A& |7
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“Thetehdl <hl T STl | 39 are | W Fag sl S had & 7
(A) e faga (B) T
(C) v foret (D) uifer
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SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

Which type of reading is also known as rapid reading or independent silent reading ?

(A) Extensive reading (B) Intensive reading

(C) Library reading (D) Loud reading

Which one of these is not the method of teaching writing ?

(A) Tracing method (B) Free imitation method

(C) Intensive writing method (D) F.G. French’s method
Reproduction technique, Role play and Performance are the main techniques for :
(A) Reading skill (B) Writing skill

(C) Speaking skill (D) Listening and understanding skills
The speaking and listening skills are developed by using :

(A) Flannel Boards (B) Pictures

(C) Film strips (D) Record-player

Language laboratory is a very popular technical innovation. It is derived from :
(A) United Kingdom (B) America

(C) France (D) Germany

Which one of these is not a Quantitative Techniques of Evaluation ?

(A) Oral Techniques (B) Observation Techniques

(C) Practical Techniques (D) Written Techniques

The technique of evaluation that includes certain statements of Yes and No type is :
(A) Check list (B) Observation techniques

(C) Rating scale (D) Anecdotal records

Which one of these is not a function of CCE ? E 0
(A) Children can know their strengths and weaknesses. Eﬁ“ﬁf

(B) It provides the child a realistic self-assessment.
(C) It does not help teacher to organise effective teaching strategies.
(D) It helps in identifying changes in attitudes and value systems.

One of these is a feature of formative assessment :

(A) It is an assessment of learning.

(B) Itis a diagnostic and remedial.

(C) Itis the most traditional way of evaluating students’ work.
(D) It is generally taken by students at the end of a unit.

Functions of evaluation are :
(A) Diagnosis, motivation (B) Diagnosis, prediction
(C) Motivation, understanding (D) Teaching, learning

Read the passage and answer the questions (Q. Nos. 41 to 45) that follow :

Why do people get stressed ? Adolescents are faced with the demands of their
developmental task and that of a complex society. They need to acquire skills of adjustment
to emerge into adulthood unaffected by these demands. If they lack these skills or if too
many demands are made on them, they fail. Students are anxious, as they are worried about
whether they would be able to live up to the expectations of their peers, parents and teachers.
Optimal anxiety motivates and keeps them ahead while over-anxiety is disabling.

Anxiety is contagious and passes onto other students, teachers and parents. Adolescents,
when stressed out, tend to perceive everything as an emergency.
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Choose the Synonym for the word ‘emergency’ :
(A) exogamy (B) exigency
(C) exequy (D) exemplary
Choose the Antonym for the word ‘optimal’ :
(A) enamel (B) decimal
(C) unideal (D) imaginable
Choose the misspelt word : EiE
(A) percepsion (B) motivation E%?
(C) complexion (D) paternal -
Noun for the word ‘developmental” will be :
(A) develop (B) developing
(C) developed (D) development
Choose one word for ‘a disease spread by direct or indirect contact of people or organism’:
(A) complexity disease (B) stress disease
(C) contagious disease (D) fever disease

Read the passage and answer the questions (Q. Nos. 46 to 50) that follow :

Education as commonly understood by people means acquiring certain knowledge
and skills in order to earn their living. But that is only one purpose of education. You may
ask why ? This is because humans are much more than just wage-earning machines. They
are endowed with emotions and feelings which enrich their life. These emotions and
feelings need to be developed so that they can develop into social beings, able to interact
with fellow beings who are also members of that society of which they are a part.

........ in order to earn their living. Here living is :

(A) anoun (B) anadverb

(C) an adjective (D) averb

Choose compound adjective from the phrase ‘wage-earning machines’.
(A) wage (B) earning — machines

(C) machines (D) wage — earning

Which of the following phrases has a determiner in it ?

(A) acquiring knowledge (B) They are endowed

(C) humans are much more than (D) You may ask why ?

‘Education as commonly understood by people means acquiring certain knowledge and
skills in order to earn their living.’

Which tense is used in the above sentence ?

(A) Present indefinite (B) Past indefinite

(C) Past perfect (D) Present perfect

Which of the following has the three degrees of the adjective in their correct form ?
(A) common, more common, most common

(B) common, commoner, commonest

(C) common, commoner, commoniest

(D) common, commoneer, commoniest
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Choose the sentence which is correct in structure :

(A) How does the world tending to become a unity ?
(B) How is the world tending to become a unity ?
(C) How will the world tending to become a unity ?
(D) How did the world tending to become a unity ?

Choose the correct option to fill the blank in the sentence given below :

The wounded man by some boys.
(A) were being helped (B) are being helped
(C) was being helped (D) will being helped

He said, ‘Be quiet and listen to my words’. Choose the correct option to complete indirect
speech of the above sentence using phrase given below :

He urged them
(A) be quiet and listen to his words ~ (B) to be quiet and listen to my words
(C) that be quiet and listen to his words (D) to be quiet and listen to his words

Choose the nasal’s sounds :

(A) [m,n,7p B) [Lp,t] -

©) [w,j,z] (D) 16,9,f] “"?}Ef
O3 8

Choose the correct phonetic transcription for the word ‘Kimberlite’ :

(A) |‘Kimoblart] B) |‘Kimbalart]

(C) |‘Kimbarlarnt| (D) |‘Kimbolaoit]

Grouping and sequence are involved in the principles of

(A) Habit formation (B) Follow the natural way

(C) Controlled vocabulary (D) Gradation

The teaching material should be in accordance with the mental age and should have
relevance in real life situations. It is main characteristic of :

(A) Principles of Selection (B) Principles of Habit formation
(C) Principles of Gradation (D) Principles of Controlled vocabulary

In which method Mother tongue dominates in the teaching of English ?
(A) Direct method (B) Dr. Michael West’s New method
(C) Translation cum Grammar method (D) Audio-Visual method

Dr. Michael West’s New Method is based on the principle :

(A) Priority of reading, separate provision for readers

(B) Priority of writing, speaking

(C) Priority of speaking, writing

(D) Priority of writing, separate provision for writers

Which one of these is not related to the Direct Method of teaching English ?

(A) It is Natural Method also.

(B) It is Mother’s Method also.

(C) It was approved and spread by International Phonetic Association of France.
(D) This method consider visual appeal over aural — oral.
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SECTION - 111
LANGUAGE - 11
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

“Important principles may and must be flexible.” Who quoted this ?
(A) Woods (B) Washington
(C) William Weak (D) Whitestone

Natural order of learning a language is :

(A) speaking, listening, writing and reading.
(B) listening, writing, speaking and reading.
(C) listening, speaking, reading and writing.
(D) speaking, listening, reading and writing.

Which one of these is not an element of communicative approach ?
(A) Communicative approach is practical in use.

(B) It develops the speech ability.

(C) Itis not practical in use.

(D) It lays stress on the functional value of the language.

Which is the latest application of teaching language ?
(A) Structural approach (B) Communicative approach
(C) Project approach (D) Inductive — Deductive approach

Choose one of these which is not a remedy to resolve the challenges of teaching English :
(A) Provide certified and qualified teachers. (B)  Building Rapport
(C) Building Confidence (D) Use only one method of teaching.

Which one of these is not an advantage of online remedial education ?
(A) Gives a sense of isolation to the learner.

(B) Elimination of barriers of time and space.

(C) Itis cost-effective.

(D) The instruction pace is flexible.

Which one of these is a disadvantage of online remedial education ?
(A) Itis easy for the student to navigate information.

(B) No technical support from the instructor.

(C) A well designed online course makes it easy. 5

(D) None E‘%ﬁj

Continuous evaluation is basically :

(A) formative in nature and is school based.
(B) summative in nature and is school based.
(C) formative in nature and teacher based.
(D) summative in nature and teacher based.

Which one of these is not a merit of Group Evaluation ?

(A) Different learning styles cannot be evaluated.

(B) Students learn in cooperative manner as they help one another in a group.
(C) A healthy competition in a group motivates them to learn.

(D) None
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Summative evaluations :

(A) Provide the information on improving a product or a process.

(B) Provide information of short term effectiveness or long term impact for deciding the
adoption of a product or process.

(C) Provide information about teachers and what they teach in the classes.

(D) None

Read the following passage and answer the questions(Q. Nos. 71-75) :

Lack of control by parents is also harmful. If parents do not impose any constraints on the
adolescents, then they have a tendency to go astray and choose the wrong path, and later
become difficult to discipline. Such adolescents feel let down and think that nobody cares for
them. Hence some discipline from parents is necessary.

<

’ may be an appropriate title for the given extract.

(A) Discipline (B) Adolescence

(C) Lack of control (D) Tendency to go astray

Fill in the blanks with appropriate linking devices which are given below (for Q. Nos. 72-73) :
adolescents their friends feel let down and think that nobody cares for them.

(A) Both—and (B) As-—as

(C) So-and (D) Though —and

They have a tendency to go astray to choose the wrong path. (According to

the passage)

(A) neither — nor (B) either — or

(C) not only — but also (D) so—as

Adolescent as well as his friends let down and think that nobody cares for them.

Choose the appropriate verb to fill the blank in the above sentence : EiE

(A) feel (B) feels Eﬁﬁf

(C) 1s feel (D) will be feel w

If a Guardian not impose any constraints on the adolescents, then they have a

tendency to go astray.

Choose the correct option to fill the blank :

(A) have (B) are
(C) do (D) does

Read the following stanza and answer the questions (Q. Nos. 76-77) :
‘Give me a flower delicious as the rose

And stately as the lily in her pride’ —

But of what colour ?° — ‘Rose-red’, Love first chose,

Then prayed — ‘No, lily — white — or, ‘both provide;’

Choose the correct rhyme scheme in the above stanza :

(A) aabb (B) abab

(C) abba (D) abcd

‘Give me a flower delicious as the rose ........ > Which figure of speech is used in this line ?
(A) Metaphor (B) Assonance

(C) Epithet (D) Simile
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Richard was a lion in the fight.

Which literary device is used in the above line ?

(A) Simile (B) Metaphor
(C) Personification (D) Alliteration
Choose the correct figure of speech in the lines given below :
Pride goeth forth on horseback, grand and gay,

But cometh back on foot, and begs its way.

(A) Personification (B) Simile

(C) Metaphor (D) None
“Betty Botter bought some butter .......... ”

Which figure of speech used in the above line ?

(A) Simile (B) Personification

(C) Alliteration (D) Metaphor

Choose the correct modal auxiliary to fill the blank : @]
You improve your spelling. (necessity / obligation) Hgﬁj
(A) should (B) must (el
(C) can (D) might

What’s the good of entering into negotiations with ‘a man of straw’ ? Here ‘a man of straw’
means :

(A) aman of no substance or consequence.(B) a man who is made of straw.

(C) aman who is light in weight. (D) aman who strays here and there.

A poem that has 14 lines, each usually containing 10 syllables, and a fixed pattern of rhyme
is known as :

(A) AnElegy (B) Limerick

(C) Ode (D) Sonnet

On the approach of a policeman the bully ‘showed a clean pair of heels’. Here ‘showed a
clean pair of heels’ means :

(A) ready to clarify (B) he showed his shoes
(C) ran away (D) walked away
Which one of these does not belong to an elegy ?

(A) asadpoem (B) mourning poem
(C) emotional poem (D) ajoyful poem
Choose the bilabial consonants :

(A) [pb] B) |[td]

©) [tJ] D) |kg

Which is lateral consonant ?

(A) [m] B) |1

© In| D) |w]

The symbol of underlined letters in the word ‘Ship’ is :

(A) Sh B) S

© J D) 6

Phonetic transcription for the word ‘jute’ is :

(A) | o=t | (B) |dsu:t]

©) |jut] (D) |zut]

Phonetic transcription for the word ‘wreathe’ is :

(A) |ri:0] (B) | wri:th |

(C) | wrid | (D) |reoth |
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(A) < (B) Haw3dt @z
(©) 3= (D) yIuat S
33 U9 3 TR fdat famH 2 J2 5
A) © (B) 99
c) f3s (D) U=
It arfe-gu v AeH fan fegra e w3 faost Qugm fiSg W 3 ufas dfenr
(A) TII W3 T&I (B) HI3& w3 BfJt Qusr
(C) WS w3 HSIE (D) »ifHzHT M3 Wt
nif3aEet Ty <9 Jurd:
(A) =5 (B) TH3AI
(C) us9 (D) w9
Hogmemdged:
(A) G379 B) 39
C) ¢u (D) fonraszr
et IIs W w97 s 279 <t Gt Aafgg S faadt oz IH&t I
(A) 3 (B) fgse
(C) feor (D) T3
Iz fafimr &9 faga fam fenfys net & Begas 7
(A) Fo-wi=g (B) WHI-gHH

(C) Fa-=fom D) fraafis
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s — 111

ML — 1T

derRidl

AL ULSHL 56 30 WAL E.
&35 UL oy llol Al v 8.

ol [Alae ezl (Al Aot AAEALRY 53 6, drl 3 58I ¢
(A)  @lHd 2A[Geulsd (B)  Huidlud
(C) [RidrAlcHs (Gl (D)  AUHs At

A2l 53 Slaied clnsHL UAH 53 [AsA S ¢
(A)  #qul (B) dlu
(C) awA (D) su-

AAAL [QuiArHiell 53 (a4 8 9

(A)  ldust 3 ey QLA 8. (B) 2[ASIH D e1-H UL B,
(C)  UARA A 3 AU . (D) USLYRAS A ERL AHA 6.

N NN

D [Rleds NASHL SrctlatR 2l 2Rl 53 6. dl d-Leil
(A)  OUOSIHL Qv SlateAL [Aslad sl

(B)  ollnsl @ld AL [Aside a8l

(C)  CUNSIHL HS AL (51 AL Eﬁﬁj
(D) CUNSIA URIEHL AIRLLEL A48l

AAHiell 58 olloid AR S ¢

(A)  HIGEIML YR olaell 2 de 2AldRs dateL .
(B)  HIGGIML YRl S1L0L ¢@lsl Sl A,

(C) satsH 1ol 2eR] Sldl A,

(D) satsH [AeullRAlAL qusail 24434 Sldl SSA.

llArAAL HeAis HI2 GUAIL AL 834 6 ¢
(A) GauRwAlq (B) Wsyels
(C) [asrulst (D) $H HIMES

AR e UsAAL USIR $2ULE ¢
(A) WUl Bk usR B) [oluusk
(C) oglsed usk (D) Ul G UsR
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AUHS $002] HIZ 561 ULeAAL B AR 6 ¢

(A)  AHUGYsAL RilaA (B) Aslare-l
(C) wRyR-l (D) [FRletelAl

A2l AUl HEAs HI2 53, [AeitA 1L 6 9
(A)  Ucld HEAls QAL Ad AU 8.

: B0
(B)  dd Helsl (el Aotouef g2 531 s E‘%ﬁj
(C)  Udd Hels 2 [Rlatel wgld €.
(D)  d A5 22U B,

WAL AL 53l dvd ARAAMIR 58 CAlotde B DAL ¢
(A) Sil, [RURGAA WA USSR (B)  [AMUdR, UM RS 2 U1
(C)  [aeuall, wiseryras 21 2181 (D) SLYRAS, Bl 244 U USR

AR 2ALUEL AEULAL AR USASHLS 71 2L 73L oy dlod AL
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AHA HOR & ‘AHEL AL 21 7 ¥ LI 2AlAE DH2A S A AN d AB-EL AL BARL WRAL

58l AWeL MR 2B 531 4 Al 6. 338 YR datlA AR-AUIA Al 2Alddl Glau-lu

elsl. suls leldaRlant e vieal HelAL AHEL 35 ld; suls Elscl-gedl Ded DA 3L WL 58

€95 Rl 22d §64RL Uls 2 vllet ol A 6 A RIS UL Y2 IR AR 48 6. Ul UA el !

YOLER WAL 48 6. Ul GSlelz el 6. ACRUL ARAMLGLAL 821 Lo H$sL 922 ld dddl

Uells. Alel et AsUEASRAL Vet 9% Hor 2.

71.

72.

73.

‘el oL 2 eyl
(A)  2AUE 2AMAR (B) el 2AMAR
(C)  6$5 2ANMAR (D) 2ldndl 2R

LAl AAHL AUSLUASIR SRellAL HOWL 52 UG 2D € ¢

(A)  &lscl g6l Agl-Al UdLeHL (B)  RURLULRLAL VS5 922 2l UeleHL

(C)  ALAL HlaAL UaLeH (D) A¥gell Al UAlSHL
GuRlycl LRI 2, AR UL 2UAE S ¢

(A) delsld (B) Ml

(C) ¥l (D) AlslAsR



PL-2

(63)

AL AL YEULUAL AR USASHIS T4 L T5L oyl AL

74.

75.

76.

77.

78.

79.

SIH SR 8 M R HIEH !
s 5% 8 W,
Sl HIZL HEs AL
ole@ ofloy) 56 3d 9 R HIEH.
VAR LA 511 1L ALl
Ol R ABRIAL AR
HLIL €9 B2 ALY HSAd HWAURL,
BAAL 1O VIR, R HLE™.
ollAsiHL R AL gL clsadl
A3 S8 & AR, R HIGH.
Gz} eLuletl dl 2AUEUHL o A
A5 AL osR 515 R ;
5DL0L BUR 5% SRUM
gl AleLs ¢ld, 2 1.

OF 0]

AL B AMEL WA ML RELL € ¢
(A)  HéAd PR M. (B) izt Gl ¢lolel clsl.
(C)  URUR HeAd eloL (D) WU 510 Gur sRL

241 82l 58 2d vleell s ¢
(A) AARIMLHOES Us Bulgd s34 (B)  AglAlAL AR eAlxllA.

(C)  AglRAlAL AR addl 531, (D) oA olld v Ale$lA.

A2 A (LAl Y3saRs Ad-AHA [ 53 6 o aveudl.

(A)  WSCUY) Adl HEHL v 241l (B) axil2l.dl. [Aslo .

(C) AL Yels AL 510 M, ¢ (D) uzuR ldall 28l dl vl 22l

A2l 53 (e 1 6 9

(A) ‘gl USR AlAHL 2UdE 8. s Tqas(edrHL A2l

(B) &L, U, Wil el QIR AsURAL GUAS .

(C)  UVEL, UCEUHEL AAAL 6 Lzl ASell] 51 Sl s (AUl 5 ©.
(D) A% UdAHAL AL QHUIRL 53R g (AL 58 8.

‘(CereRAl FElAHL AL 6. sl Buldamell usiR eveudl.
(A)  UHAUUS (B) &qdls
(C) NS (D) Rldus
HAAADLDL 2 S 96 GIHIRELE ¢

A) Rrrel (B) slsll
(C) L (D) el
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A 53 [Aelld BUHL ACSRAE ¢
(A) xRl HH Us ¥ YER ©. (B) &Hdld Hos gz 8.
(€)  [ar12 el vieell ¢l (D)  sHaad AR cua-L U RidL

‘A BRY) 53U AL RS AlURAUAL 58 € 9
(A)  drRERl Qe A 2Ry sl (B)  ([denell dHRl HIe 2RY) s34
(C)  dHRI 242 sUs1dl. (D) ¥ (el WA 2) s34l

ULSAL YR AL AR 53, [RAgA URIRLE 9
(A) ullaz (B) teuldr
(C) =telldRIM (D) HdRul Rugt

AR ARy 2UCE SAL S ¢
(A) suledl (B) Sslynl (C) 54 (D) 548

QU (e, [€aLs 510 oleatidl 5R81R UM 2l dal ue- g ssatd ¢
(A) (Al (B) (& (C) < (D) U

Al2AHiell 21l Uid-AL 2006 sALE ¢
(A) URRL (B) 2{vi$ (C) e (D) s

ARArLR vl wglal @il s :

(A)  [QzuedA s slaeaddl dield 1o .

B) el agdpil g xS, E-’g;g
(©) [QenallAIAl seueild [sA . et
(D)  [QenelRARL di-A2U s 28 .

AU2{l520L W dr A50L Gl HI2 3 2AUARLS € 9
(A) USR B) [aas
(C)  SlslRys (D) Hlxer

APIHA- [1HA gl HI2 A=A 55 olloid R0 € 9
(A)  d [Qenlssl ugla . (B) d Rietss<l ugla .
(©) d Riets-[a=el 5=l ®. (D) oA Ugld 9.

OLLOLS HIGAHMIA, (212101 58 2AR2AML U 53Ul UZALA S € 9
(A) [Ruara (B) el (C) [Belriaraw (D) dRuUAR2AL

s(aat A 2l sou e 2
(A) el (B) sll (C) &surl (D) ¥l
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SECTION-1V / @Ug - IV

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either IV(a) Mathematics and Science OR IV(b) Social

Studies as selected in the Online Application Form and answer all the 60 questions.
39 @Us 1 ¢ Iu@vg 31fd IV(a) fvra aen fagm wa 1V (b) |mftes stea@m & | gFi 3T@vel &
% | 60 Sgfashedia I § |
wireneff b1 IV (a) nifora aen famm 32 IV (b) |mnfres steaem, faest 99  31ersa 3TmeeT-ua |
P 2, & @ foreht weh U@ 1 g1 2 wa @t 60 T ISR TR |
SECTION-IV (a) / ©@UE — IV (a)
MATHEMATICS AND SCIENCE / TifuTa aen fasm

There are 60 questions in all in this section. The candidates who have selected this subject

must answer all the questions.

TGS A Fo 60 T 7 | T sreafofa 3 g o w1 = foban 2 32 Tef) wrom e e 2

91. The knowledge of Mathematics is

(A) Exact (B) Logical

(C) Systematic (D) All of these

T T FE BT & -

(A) Ford (B) dfeheh CEAD
(C) hASg (D) FE@H

92. ‘“Mathematics is the giving of same name to different things.” This statement is said by

(A) Henry Poincare (B) Roser Banken
(C) Berthlot (D) Benzamin Peirce
“faf¥r=1 &g 3Tl ! FHM T8 <1 & T B |7 98 YA fohd Hal ?
(A) BT gt (B) TS s

(C) wetie (D) S=iE foerd
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94.

9s.

96.

97.
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Which of the following statements is not related to the reason for giving special place to
Mathematics in the curriculum ?

(A) Mathematics is an exact Science.

(B) Mathematics generates logical attitude in children.

(C) Mathematics is not for ordinary people.

(D) The language of Mathematics is universal.

e 5 | 19 |1 e TG Y UTSshy T Ty T A o R | Tefud T8 8 7
(A) TiTd T were o 2 |

(B) TIfUrd sr=ai | aTfeheh gfeeehivT UgT hidT & |

(C)  TIora | it o ferg T R |

(D) TTfoTa <t TS Hreifies Bt # |

Mathematics teaching is useful :

(A) In social development (B) In practical life

(C) Inintellectual development (D) In all of these

TTfre freror SwRh T R

(A) TR fomhrE o (B) SATEEIN Sfiad |

(C) wifgs fepra o (D) smfiH

The word ‘curriculum’ is originated from

(A) Latin language (B) French language

(C) German language (D) None of these

FpeH (ST Ieg 1 IR ES @ e
(A) wfeTamra (B) WauNI® E%ﬁf
(C) S W@ (D) 370 & 1S T a
‘William Kilpatrick’ is the founder of which method of teaching mathematics ?
(A) Lecture method (B) Demonstration method

(C) Project method (D) Analytical method

“Tarferem feperdfeen’ Tiora freror 1 ford Tgfa o Twem® 8 ¢

(A) = fafy (B) eu fafy

(C) ST fafy (D) fowerfyes fafar

Which teaching method follows the principles of ‘Learning by doing’ and ‘Learning by
observation’ ?

(A) Inductive method (B) Laboratory method

(C) Deductive method (D) None of these

fopmr fareqor farftr & “oreeh efigmr’ 3R “raretieh g HieHT fogra <1 arer Bt 2 7
(A) AT fafy (B) SmTSITe fafy

(C) T fafy (D) T 4 HIE T
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100.
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(67)
Characteristics of a good test is
(A) Validity (B) Objectivity
(C) Reliability (D) All of these
Teh 318 G0 i farrar 2
(A) S (B) a&gfsaan
(C) Toagiaan (D) Ig Tl

In which type of teaching “The main purpose is the development of effective techniques
for the correction of error in all types of learning” ?

(A) Diagnostic (B) Remedial

(C) Achievement (D) None of these

or8 TR <k Treror § “3fermm waeft et @l 3G T & ford gHmEeTe fafemi 1 foshra e
e e A1 7

(A) frgETea (B) SUY=RIHS

(C) 3uafey (D) T8 & i3 T

In the teaching and learning of mathematics, the use of teaching aids helps in :
(A) Making teaching joyful. (B) Making contents interesting.
(C) Maintaining class discipline. (D) All of these

TTfore fRreror AR e | e werres wmwf wEgrEd S 2

(A) Tneror =6t T S H | (B) Tow=r-a%g I ARS SR | |

(C) hea | T S W& H | (D) Fafid

12 (1Y (1)
The value of (—j x(—j X(_j is E5E
2 3 4

(A) -576 (B) 576
(C) 144 (D) 288
N2 (1Y (1)

z) () ) =

2 3 4

(A) -576 (B) 576
(C) 144 (D) 288

3
The sum of two numbers is 15. If the sum of their reciprocals is 10° then the larger number is

(A) 15 (B) 20
© 10 (D) 25
. . . 3 .
< HEAI3T BT AT 15 2 | Al 37oh ekl 1 A0 15 &, A T HSA R -
(A) 15 (B) 20

(€) 10 (D) 25
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104.

105.

106.

107.

(68)

Which of the following is correct ?

(A) Dividend = Divisor x Quotient + Remainder
(B) Dividend = Divisor + Quotient x Remainder
(C) Divisor = Dividend % Quotient + Remainder
(D) Remainder = Dividend x Divisor + Quotient

fedawdie:
(A) WTST = 9IS x YIThS + A6 (B)
(C) WIS = 9TST x YNThHe + AThA (D)

The value of \/ 176 + \/2401 is

(A) 49 (B)
© 25 (D)
V176 ++/2401 HIAFR :

(A) 49 (B)
(C) 25 (D)

If 27?*=1 = (243)3, then the value of x is

(A) 3 (B)
€ 2 (D)
Ffg 272 - D= (2433 A, AW x FIAF & :

(A) 3 (B)
€ 2 (D)

WIS = HISTh + UITHA X A6
YTHA = HISH % HISIH + HIThA

6.08
15

6.08
15

PL-2

If the simple interest on ¥ 600 for 4 years and the simple interest on ¥ 600 for 2 years
together amounts to I 180, then the rate of interest will be :

5%
6%

e T 600 T 4 I HT HIUROT AT 37 T 600 T 2 T T FTROT AT ARt et 3 180 &,

(A) 4% (B)
(C) 5.5% (D)
RIEISEIRLES

(A) 4% (B)
(C) 5.5% (D)

If the side of a square is increased by 50%, then by what percent will its area increase ?

(A) 75% (B)
(C) 125% (D)

5%
6%

100%
150%

ife Farelt o 61 ST Y 50% T T ST, A w6 et #f e T <61 gz B S ¢

(A 75% (B)
Q) 125% (D)

100%
150%
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109.

110.

111.
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If liO part of a pipe is in mud, 3 part in water and remaining 5 metre above the water
surface, then the length of the pipe will be :

(A) 1I5m (B) 60m

(C) 30m (D) 50m

e O T T 9T TS , 2 s e i e 3 S e 9 B wwE @ A, A e
= TS B

(A) 157X (B) 60 i

(C) 30HeX (D) 50HieT

The present population of a town is 5000. If there is a decrease of 10% in the population
every year, then the population after 2 years will be :

(A) 4500 (B) 4050

(C) 4000 (D) 3500

Teh TR shl TG0 SHEEAT 5000 2 | Ffe Seean § gfaas 10% 1 s 81, 1 2 99 «1e i
W@T @Tﬁ :

(A) 4500 (B) 4050 DF0|

(C) 4000 (D) 3500 E‘%ﬁf_

What should be added to each term of the ratio 16 : 25 so that the ratio becomes 2 : 3 ?

A) 3 B) 1
©) 2 (D) 4
AT 16 : 25 < Teh U¢ H AT AT 91T foh I8 3@ 2 : 3 B9 7
A) 3 B) 1
© 2 (D) 4

A quadrilateral whose four sides and angles are equal to each other is known as

(A) Square (B) Rectangle

(C) Rhombus (D) Parallelogram
Ty foreh! T e 37 101 T SR &, I8 Haelldl & :
(A) (B) 3mad

(C) H=gH (D) TH=R Iqds
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114.
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The ratio of the length of the side of a square and its diagonal is

(A) 3:42 B) 1:12

(€) 2:2 (D) ~2:1

Tt Sl ST e 3ok foehul <t e T 37U |

(A) 3:42 B) 1:2

©) 2 :2 D) V2 :1

The sum of two sides of a triangle with the third side is

(A) greater (B) small

(C) equal (D) None of these

fopeht foraget <A1 St yyoadt o1 = el Y A AT R - Eﬁ
O3 8

(A) =T (B) ®I

(C) == (D) STH & IE T

The volume of a cuboid is 440 cm?® and the area of its base is 88 cm?, then the height of
the cuboid will be

(A) 3cm (B) 25cm

(C) 6cm (D) S5cm

Teh TATY T ST 440 T T} § 37 38h TR 1 &b 88 a7t Afl g, al B9 i TS
Ui

(A) 3ot (B) 2.5 9wt
(C) 6w (D) 5¥f
The number of diagonals in a cube is

A) 2 (B) 4

<€ 5 D) 6

Teh O H fehuli o1 T gl & -

(A) 2 (B) 4

€ 5 D) 6

If the height of a cylinder is 11 ¢cm and the curved surface area is 968 cm?, then the radius
of the cylinder will be

(A) 10cm (B) 1l cm
(C) l4cm (D) 8cm
T Toh SO ol HaTs 11 Tt TR T3k T8 T &R 968 T T &I, Tl e oh 2 BRTY -
(A) 10 @ (B) 11 @

(C) 149 (D) 8o
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119.

120.
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The arrangement of presenting the data in columns and rows in a sequential form is called

(A) Classification (B) Tabulation

(C) Presentation (D) Analysis

THehI ! @I a2l Uferaell § shfeg €9 H T i hl HaEAT HEAT & :
(A) =it (B) @ufiE

(C) wEqdRt (D) Toretwor

Which of the following is not a source of secondary data ?

(A) Magazines (B) Official report

(C) Self survey (D) Data stored on the internet
o= o @ oo = e @ o stishel 1 a1 T 8 2

(A) ufeTd (B) TR Ufeaed

(C) =afed gra T fopan T T (D) 3T W Tufea 3AThg

With the observation of frequency polygon, which of the following can be found out ?

(A) Mode (B) Median

(C) Mean (D) Standard deviation

I TGS o STl § FferRad 5 & 91 T fohan ST dehat 3 ?

(A) wETH (B) wferHt -
(C) wre (D) " e Eﬁf

When two dice are tossed simultaneously, the probability that the sum of the numbers
appearing on both the dice is 8 will be

1 1

(A) & B) 36

© = D) 1

Tl UTET bl Teh T IDTA W 1 UTET R 37 STeAt SETAT bl TN 8 B <hl TTRehdl g1
1 1

(A) & B) 36
5 7

© 35 D) 3%
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Cancer

Common cold

HET
T [T

Prophase 11

(72)
Which of the following is a non — infectious disease ?
(A) AIDS (B)
(C) Corona (D)
7 9 9 sTEshmR T A1 7 ?
(A) TH (B)
(C) SR (D)
In which stage of cell division synaptonemal complex is formed ?
(A) Prophase (B)
(C) Prophase (D)

None of these

HifTeRt forarsH 8 fqaeeifmer aftry s fmfu w9 o s i giarg ?

(A) Yafeer | (B)
(C) erferee (D)
Fossil fuels are

(A) Renewable source of energy (B)

(C) Both (A) and (B)
Shraret o 8

(A) Sl T THLN FId
(C) (A)d(B)eHi

(D)

(B)
(D)

Ganga Action Plan — Phase | was launched in

(A) 1987 (B)
(C) 1989 (D)
T T GRETSHT — =0T [ 3T 3TRY §3TT

(A) 19874 (B)
(C) 19891 (D)

Which bacterium causes gonorrhoea disease ?
(B)
(D)

(A) Mycobacterium tuberculosis

(C) Mpycobacterium leprae
S Y ST § goTreh WA 8 ?

(A) WIShHISFRINEH TFEHREITEE
(C) HTShISRINEH Aqt

(B)
(D)

gaferer 11
STH 8 HIE TR

Non-renewable source of energy
None of these

EEIEIICECIEIUIREEIG
T8 A IS T

1985 OFD
1984 Eﬁﬁf
19851

1984

Corynebacterium diphtheriae

Neisseria gonorrhoeae

EONECET LD A eI DIE]
Frafen mAfeEE
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Which type of mammary glands are present in human female ?
(A) Apocrine (B) Merocrine
(C) Holocrine (D) Eccrine
HIET HTE | T T hiF & JehR <t arft St & 2
(A) T (B) HRIHTEA
(C) Eellshrs (D) ks
Disease caused by deficiency of Vitamin — C (Ascorbic acid) is
(A) Night-blindness (B) Beri-Beri
(C) Scurvy (D) Rickets
forarfim -t (C) (wpifelss Tftrg) Hi i A g AT TR %ﬁ
(A) T (B) - '
(C) whdl (D) fereH
In which phase of cell division process of synapsis occurs ?
(A) Pachytene (B) Zygotene
(C) Diplotene (D) Diakinesis
SHITTeRT favTem 1 i = wrawen # fiferm 6 ufrn g 2 ¢
(A) UehrEied (B) Sl
(C) fewtifen (D) SREAYE
When medical termination of pregnancy was legally approved in India ?
(A) 1947 (B) 1971
(C) 1958 (D) 1960
Ra # faferceft wmfar amm w1 S Sl w8 em Hi T 7
(A) 1947 (B) 1971
(C) 1958 (D) 1960

Where is the institute that developed ‘Saheli’, a contraceptive pill, located in India ?

(A) Bangalore (B) Ahmedabad

(C) Lucknow (D) Chennai

‘TRl AmHes T - g Mol 1 foerfia s aTen g, Wrd | el i g v
(A) SR (B) TG

(C) «&@TH (D) ==
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Example of Rabi crop is
(A) Wheat (B) Groundnut
(C) Maize (D) Soyabean
T S HE T IR & —
(a) T (B) et
(C) werhl (D) HETs=

Which teaching method was popularized by G. Stanley Hall ?

(A) Psychometric method (B) Anecdote method

(C) Questionnaire method (D) Case-history method

Sfi. el gfa 3 i i e Tty 1 Aeslie s ¢

(A) T fafy (B) e fafy Eﬁ
(C)  sTareh fafe (D) wf-shemffy B

Characteristics of continuous and comprehensive evaluation is

(A) Durational aspect (B) Continuity
(C) Omniversal development (D) All of these
i Td SqUTeh Yedieh o fersie & —

(A)  mafee gl (B) e

(C) warmE! foem (D) & wft

Which of the following is not an advantage of teaching aids ?

(A) Expensive material (B) Motivation and interest

(C) Effective for slow learner (D) More efficient learning possible
freferRaa & & = @1 Rreor-wgme ammf w1 aw T R 2

(A) weh | (B) 3ROM & T=rehal

(C) TUse sretehi = fore yureht (D) 93¢ TH hi JIfed v
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Which of the following is not a correct example of muscular force ?
(A) A person lifting a bucket of water placed on the ground with both his hands.
(B) A person lifting a book on the table with both his hands.

(C) A person stops rowing a boat with both his hands then boat stops after travelling
some distance in the water.

(D) A person pushing a table placed on the floor with both his hands.
fatifena o & b |1 Usfi o 1 T S A R 7

(A) Tortht safea g 1o ST g1l | A W T a Sl dTedt Sl 33T |

(B) Tortht safard gr 379 g1 g1l | B W Tt U Tdeh bl ISMT |

(C) Toreit safar g 370 ST BT & A6l T 91 U G W, AT <l THT 1 % gl =Icteht ek STM |
(D) Toreht saferd grr 319 QAT B1ei | et W Wt TSt bl bt |

If a simple pendulum takes 40 seconds to complete 20 oscillations, then the time period of
the simple pendulum is

(A) 2second (B) 0.2 second

(C) 5second (D) 0.5 second

¢ Teh TA SAleTeh 20 Gle I i H 40 ThUS T 7, A T AAleioh o STAADIA & :
(A) 2 HHTS (B) 0.2 9%US

(C) 5ThUS (D) 0.5 0

A cold steel spoon is dipped in a cup of hot milk, then its other end -
(A) becomes hot by the process of convection.

(B) becomes hot by the process of radiation. OEAD|
(C) becomes hot by the process of conduction. E%?

(D) does not become hot.

I hl U 3! THTE % T gH o Y H G- T 3T g8 R
(A) wagd gfshaT g TRy &l ST |

(B) ferfertor ifshan grr e &1 S |

(C) e Sfsha GIT TRA &1 STa |

(D) W &I E |
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The image of an object formed by side glass of motor vehicles is -
(A) erect, real and smaller in size than the object.

(B) erect, real and bigger in size than the object.

(C) erect, virtual and smaller in size than the object.

(D) erect, virtual and bigger in size than the object.

HIeT a1 o UTvel gUvT gRT Ush aq (farvar) <t sramm e wfdfersy grar & —
(A) T, STt qen d1ga § axq (foms) @ Biet |

(B) e, arEafess qut amss | o (fora) @ @1t |

(C) T, T qen Arss | 9% (fomr) | Bier | -
(D) T, 9T qen Arse | 9% (fom) 9 e | Eﬁﬁf

The correct statement for loudness and pitch of the sound in roar of a lion -

(A) Loudness high, Pitch-high (B) Loudness high, Pitch-low
(C) Loudness low, Pitch-low (D) Loudness low, Pitch-high
IR 61 egTe § et 6l JaoIdT T dicd & foTu Il o & —

(A) TSerdT 3Tk, aRed 317 | (B) VSeAdT 3Tk, AR A |

(C) YSAdT SH, dcd A | (D) JeerdT Y, dicd e |

Which of the following device is based upon magnetic effect of electric current ?

(A) Electric bulb (B) Electric fuse
(C) Electric bell (D) Electric press
Freiiend ® 9 Torega 9w o Ireehia YW1 T 3THTRA I @
(A) Torp@ases (B) TerE@ ==
() faga=d (D) fergga et
Which planet is least dense among the following planets ?
(A) Saturn (B) Mercury

(C) Mars (D) Jupiter
feifeRd 78T & R W1 U Hel FH FEA R ?

(A) = (B)

(C) A (D) FEEfd
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(77

Which of the following is not correct for ‘evaluation’ ?
(A) It is an integral part of teaching process.

(B) It is more objective, reliable & valid.

(C) Its area is limited.

(D) Diagnostic and remedial teaching is possible through this.
freifera o & ‘Yoo’ o foiw 6 o1 wel U AE 8 7

(A) =g Treror afshan =1 S1fy=r 3 8 |

(B) ¥E FAfersh IEgfsa, fergawia qendu @ |

(C) o1 & Hfir @ |

(D) 3G g FreHTeaes qe STemrensh fareror ane 8 |

Example of thermoplastic among the following is

(A) Bakelite (B) Melamine

(C) Polythene (D) Urea-formaldehyde resin

freferfiea ® @ eriweTieee 1 3eE & -

(A) SehelTse (B) HATHTEA

(C) wuiferefia (D) IAT-HiHfeeaTss WoH

Monoatomic molecule among the following is .
[OEA 0]

(A) Argon (B) Hydrogen Eﬁaﬁf

(C) Oxygen (D) Ozone

freferfiea § & TehuRHTIS 370] § —

(A) 3T (B) ETEgISH

(C) HiadisH (D) S

Chemical formula of magnesium phosphate is

(A) MgPO, (B) Mg, (PO,),
(C) Mg,(PO,), (D) Mg(PO,,
AT Biehe o1 TERIS g7 8 —

(A) MgPO, (B) Mg,(PO,),

©) Mg3(PO4)2 (D) Mg(PO4)2
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The process used to separate grain from stalks is
(A) Hand picking (B) Threshing
(C) Sublimation (D) Sieving
T Ui 1 SfAT | STTRUI Rl GUeh HH H Y TRAT 8 —
(A) B I (B) 9fsm
(C) ST (D) =T

Natural indicator among the following is

(A) Litmus (B) Phenolphthalein

(C) Methyl orange (D) Methyl red
Freferfiae 3 & ST g & —

(A) Toremg (B) Thareradferm

(C) uforet 3T (D) AR E
Inexhaustible natural resource among the following is

(A) Forest (B) Coal

(C) Natural gas (D) Sunlight EmE
freferfad & & 31em wTehfereh TETeA B - Eﬁj
(A) =H (B) hIFe

(C) spfersk A (D) FEHITH
Example of co-curricular activity in Science teaching is

(A) Chart (B) Model

(C) Bulletin board (D) Science club

fersr fveror o wrea wrereh fomer <1 SerETor § —

(A) = (B) wise

(C) wifeaarEg (D) Torst ool

Which class of plants is called “Amphibians of the plant kingdom™ ?
(A) Pteridophyta (B) Gymnosperms

(C) Bryophytes (D) Angiosperms

foper a7l o el ST “UTeH AT % IWR” hET AT 8 7

(A) 2REmEe (B) Toeiremd

(C) THEHTE O RUER
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SECTION-IV(b) / ©UE — IV(b)

SOCIAL STUDIES / |THIGTR 3195

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

30 @ H A 60 T 7 | T arvarfiari 3 5a forwy 1 = fopen 8 32 onft wea s e 2

91. Which one is not included in ‘Fundamental Duties’ given in Article 51 A ?
(A) To Pay Taxes
(B) To Defend the Country
(C) To Safeguard Public Property
(D) To Develop the Scientific Temper

3 5 & i a1 31g=se 51 % 1 fou el shfen | el T R 2
(A) U T PTIE A | (B) <A HI TR |
(C) drdIfeh Gufe st gefera & | (D) SiTfeh gfeeshior 1 fershrar & |

92. Which Constitutional Amendment determined the size of the Council of Ministers ?

(A) 8l (B) 91
(C) 101 (D) 102 .
fope e e g fafg o1 oer Faffa fee w2 Eﬁ
(A) 81 (B) 91 Bt
(C) 101 (D) 102
93. ‘SVEEP’ is related to
(A) Voters Awareness Programme (B) Rural Swachhta Programme
(C) Urban Swachhta Programme (D) Corruption Control Programme
‘w7’ (SVEEP) Haferd 2
(A) WAl STITEehdT hIIsHH (B) T T=sdl SHREIhH
(C) &l T=adl hTIshH (D) USER {3 Srisn
94. ‘The Dispute between two States’ is part of which jurisdiction of the Supreme Court ?
(A) Original (B) Appellate
(C) Advisory (D) Writ
“T TS o 7ed Ta1g” I=aH AR o fohd &A1Y R &1 fZe 8 7
(A) T (B) 3rdicta
(C) weTEHr (D) T (afaer)
95. The ‘Theory of Basic Structure’ was propounded by the judiciary in which case ?
(A) A.K. Gopalan (B) Kesavananda Bharati
(C) S.R.Boomai (D) Golaknath
T A1 1 TagTa’ =rRTioreh! = fohg ate | wfariea foam ?
(A) T, MUTEH (B) hIETE AR

(C) TH.IR. S=T8 (D) T
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97.
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Which of the following statements is false ?

(A) The earth is also called a blue planet.

(B) Venus is considered as “Earth’s — twin”.

(C) Saturn is an Inner planet.

(D) Mercury completes one orbit around Sun in 88 days.

= 3 B e R 7

(A) gt ol fien 7E ot hET T | |

(B) 313k I Y=l T edl Tg WHT STl 2 |

(C) Tk HAH TR 2 |

(D) g9, I IR TR Teh THERAT 88 fei § U HLaT 2 |

When it is 10.00 AM on 0° longitude, what time will it be at 15° east longitude ?

(A) 11.00 AM (B) 11.00 PM
(C) 10.15 AM (D) 09.45 AM
ST 0° R T T8 6 10.00 91 18 &, a1 15° Yol guI= T fohaa1 90 g0 2
(A) ITd: 11.00 (B) TR 11.00
(C) d9rd: 10.15 (D) 9rd: 09.45
The place in the crust where the earthquake movement starts is called as —
(A) Focus (B) Epicentre
(C) Vent (D) Crater
YUYt o ) T8 TAT T ehu 3T BIdT &, HEATdT & —
(A) 3™ g (B) 3Afrehg
(C) T (s2) (D) 3heX
Earthquake and Volcano are caused by — E%?,
O0f%a i

(A) Endogenic forces

(B) Exogenic forces

(C) Endogenic and Exogenic forces
(D) Solar forces

I TR SATATHE Jfed &M T BRI B —

(A) ISt oo (B) dfgsitd 5et

(C) 3aSitG wdl Sfgsita o (D) Hiwse st

The Agulhas current flows in which ocean ?

(A) Arctic Ocean (B) Atlantic Ocean
(C) Pacific Ocean (D) Indian Ocean
SFCTETE 9T <hIH & HEHRR H JelTied eidi 8 ?

(A) 3TTehieeh HEETR (B) 3TeAINEH HETEIR

(C) IM=T HETETR (D) fa< mEmmR
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Who was the first General of Archaeological Survey of India ?
(A) Lord Cornwallis (B) Sir John Marshall
(C) Alexander Cunningham (D) William Bentinck
VR GO T2 o Tget Fet i 9 ?
(A) TS hiHaT™ (B) ®X S AR
(C) 3ITIRISt Siem (D) foform dfés

Which statement is true regarding The Therigatha ?

L. This is part of Sutta Pitaka.

II.  Is acollection of verses composed by Bhikkhunis.

III.  This is part of Vinay Pitaka.

IV. It provides an insight into women’s social and spritual experiences.
(A) LILII (B) LILIV

(C) IL IIL IV (D) LI IV

SERTIen  HeY § HH T HAT TR 7

I. 98 ga fues & fgwm g |

. 399 fyeg=i grT thad S o1 Gehard AT TR 2 |

L 33 fom foesh o1 fewmn 2 |

V. 3o nfgers o gt 3t smenfres sryel & ar | sidgfte frerd 2 |

(A) LI 1 B) LI,IV
(©) 1L 11, 1v (D) LILIV
EiE
Vardhman Mahavir belonged to which dynasty ? Eﬁﬁf
(A) Lichchhavis (B) Haryank
(C) Shakya (D) Satavahana
LA WETER fohg 991 @ gEfa o ?
(A) foead (B) &%
(C) = (D) wTqared

Why Magadha was the first among the Sixteen Mahajanapadas ?
(A) Agriculture was especially productive.

(B) Presence of Iron Mines.

(C) Availability of Wild elephant.

(D) All of these

HIcT8 HETSHYGl H WITe S| &R o ?

(A) Tt i 3T =T BT | (B) <@ <hl @ B |
(C) SHTeft greft o1 3ueTsdt BT | (D) A et

Where is the Harappan site called Lothal located ?

(A) Rajasthan (B) Gujarat

(C) Haryana (D) Kashmir

AT T SIS TS el foIq 8 7

(A) TS=IH (B) TSR

(C) wfemm (D) HWR
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Barygaza was the Greek name of which port of ancient India ?

(A) Bharuch (B) Arikamedu

(C) Puhar (D) Madurai

SIS IT=AA WRA o i & SEUITE T A A AT 7

(A) w&d (B) 3Tihmg

(C) TR (D) #g

Chola inscriptions mention several categories of land. Among them Vellanvagai was
(A) Land of Non-Brahmin Peasant proprietors.

(B) Land gifted to Brahmins.

(C) Land for the maintenance of a school.

(D) Land gifted to temples.

et rfiyerai o fty i fafir=r snifestt 1 Seorg fireran 2, 376 & “doeaTs” S Hey ot
(A) Tr—sTerr feram Tart i sfiy (B) TRl <l SUER H < TS yf
(C) Toreft feremera = wew@ma & fow yft (D)  wfex 1 Swer # < 78 ofa

How many sub-committees have been mentioned by Magasthenes to conduct military
activities in the Mauryan administration ?

A) 4 (B) 6

© 8 (D) 10

et = 1 e | &fes nifafafertt o e o fore et su—afifae =1 Seora forn 7 2
(A) 4 (B) 6

© 8 (D) 10

What was the land donated to Brahmins in the Gupta period called ?

(A) Vellanvagai (B) Shalabhoga

(C) Devadana (D) Agrahara

TeIhTet B SITEIUN <hl STt fH g <F STt oft 38 oo shad o 7 -
(A) dAeeTTaTS (B) ST e
(C) oM (D) TR

Which was the capital of the Chalukyas ?

(A) Madurai (B) Amaravati

(C) Bharuch (D) Aihole

IIeRIT <l TALTHY A &t off 2

(A) WGt (B) 3T

(C) w&= (D) Ug
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111. Who was the first Sultan to visit the “Shrine” of Khwaja Muinuddin Chishti ?

(A) Qutubuddin Aibak (B) Iltutmish
(C) Muhammad bin Tughlaq (D) Alauddin Khilji
TSI geeH faedt 1 “qumg” W 3T JTell Taell Yo i o7 ?
(A) BT TTh (B) segdtm
(C) Hewg for geth (D) ITARE et
112. The Polaj, Parati, Chachar and Banjar land types belong to which period ?
(A) Maurya (B) Gupta
(C) Sultanate (D) Mughal
TIeTST, 9T, FTeR 9 &9 fH o SR fohd 1l § Tefa & 7
(A) (B) T
(C) Weddad (D) T
113. Which was Akbar’s favourite style of Calligraphy ?
(A) Nastaliq (B) Kufic
(C) Manzil-abadi (D) Herat
3The shl Goi 1 qEier el i &t oft 7 E-’gﬁ'?
Ol
(A) Tt (B) Fihe
(C) e s (D) &
114. Who painted a picture titled “The Relief of Lucknow” about 1857 ?
(A) Marshal (B) Miss Wheeler
(C) Thomas Jones Barker (D) Joseph
“T Tl 31Th T@e,” A1 o 1857 o fawar § fopa sm 7
(A) U (B) oo =Eier
(C) UTHH ST STt (D) SEH
115. Who was the author of the book ‘Gulamgiri’ ?
(A) Dayanand Saraswati (B) Swami Vivekananda
(C) Jyotirao Phule (D) Raja Rammohan Roy
TATRY TR Jieh o oi@eh i 9 7
(A) I T (B) @t foeshg

(C) A ot (D) TSI THHTEA T
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‘Family Welfare’ subject is given in which schedule of Constitution of India ?
A) 4 B) 6
© 9 (D) 11
“gftaR sheamor’ fawer 9 o Gfaer 6 form gl o femmn g ¢
A) 4 B) 6
© 9 (D) 11

Who has the power to amend Constitution of India ?

(A) Supreme Court (B) Only Lok Sabha
(C) Only Rajya Sabha (D) Parliament

YR % T & Hes i b1 wifed ford e B 2

(A) S AT B (B) U SAlh BT !
(C) U TT IAT hl (D) HHE

When is ‘Legal Services Day’ celebrated in India ?

(A) 1 January (B) 10 August

(C) 9 November (D) 10 December ..
e “fefirep e feme el TR ST R 7 =
(A) 1SHad (B) 10 3

(C) 9 TR (D) 10 feamr

State the correct sequence of words mentioned in the Preamble of the Constitution of
India.

(A) Fraternity, Equality, Liberty, Justice.

(B) Equality, Liberty, Justice, Fraternity.

(C) Liberty, Equality, Justice, Fraternity.

(D) Justice, Liberty, Equality, Fraternity.

T o HiTeT Y Sgf3ept § Ifvid gl b1 Tt STIhH T |

(A) YT, FHAT, T, = (B) |, ToaAdT, =, YAl
(C) TSI, |odl, =, SYAl (D) =T, TFaAAT, HHAT, AT

When was “Protection of Children from Sexual Offences Act (POCSQO)” came in force in
India ?

(A) 2008 (B) 2010
(C) 2011 (D) 2012
IRA § “TifiTeh STIUT & STeteh! b1 TRequr JTIT=rg (qieeht)” e AN 3T ?
(A) 2008 (B) 2010

(C) 2011 (D) 2012
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Which fair of Rajasthan is called ‘Kumbh of the tribals’ ?
(A) Beneshwar Fair (B) Kaila Devi Fair
(C) Jeen Mata Fair (D) Diggy Fair
TRt 51 o TR 35 & 0 R 7
(A) SUER HeAT (B) helt <ol Wl
(C)  SToTHTaT Hett (D) feuft e

Thamanyo, Thedyo, Aad and Thussi ornaments are worn by women in which part of their
body ?

(A) Head (B) Neck
(C) Hands (D) Waist
(A) T (B) H3H
(C) zuH (D) ST

“Mabharaja School of Arts and Crafts” was established by which Rajasthani ruler ?

(A) Sawai Jaisingh (B) Sawai Ramsingh

(C) Jagat Singh (D) Jaswant Singh

“HERIST Thel 3ATh JTEH U ShTHeE” <hl TATIHT Fohd Tt w1meeh gra shiarft mft 2
(A) T SATE (B) weITE THfdE

(C) Srrdfes (D) SHIARHE

“Valar dance” is performed by

(A) Female (B) Male

(C) Male and Female (D) None of these E5E
“ITeR Jea” Terdeh g foRaT ST 8 2 Eﬁf
(A) Hgm (B) e W

(C) it aged g (D) 70 & s &

After attaining which of the following objectives, a student can correct any given error in
amap ?

(A) Gaining Knowledge (B) Development of Understanding

(C) Application of Knowledge (D) Action Skills Development

T 4 @ fopm 3evar 1 e W foremeff foreft wtas o sifera oTeIfgai ool aet L ashar g 7
(A) TERH (B) &y 1 fasm|

(C) FEMEEN (D) fsrarcaes el o1 foremmd
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126. “Education is nothing but the socialization of the younger generation.”
Above mentioned statement is given by which scholar ?

(A) Durkheim (B) Bossing
(C) Aristotle (D) T.P. Nunn
“farer 15 it < TSRt & rfafes o T8 8 1 FUT FET TR -
(A) TEE (B) iR
(C) & (D) &4\
127. “Model of understanding level of teaching” is also known as
(A) Herbert’s Model (B) Morrison’s Model
(C) Ausubel’s Model (D) Turner’s Teaching Model
“Hige 3TH TS oigat 317 A 1 38 T & off 7 ST & -
(A) T At (B) Wi s
(C) e "iga (D) TR A Avsd

128. Which of the following teaching objective is not associated with Benjamin Bloom’s
Cognitive Domain ?

(A) Knowledge (B) Receiving

(C) Analysis (D) Evaluation

1 1 8 ST ST o SHTCTe & 8 FR(d hiF 1 feqer 3evd 18l g 2
(A) = (B) ifenrEw

(C) fawemy (D) WA

129. According to the nature of instructional method, project method belongs to —
(A) TCI (Teacher Controlled Instruction)
(B) LCI (Learner Controlled Instruction)
(C) T-LCI (Interactive Procedure Instruction)
(D) GCI (Group Controlled Instruction)
TG Tehe1oh oh! T oh STTHR IS farfer gearfera @ -

(A) 3531, (reamaes fRIfa 3rgeem) %%?
(B) Uer. =i 3ms. (femeff Frifse srges) .
(C) .-wer. =31, (Feifoea Tfshan 3ey)

(D) Sf.=.3ms. (g Fefa sreem)

130. Which of the following formula can be used to represent the “Measurement and
Evaluation relation” ?
(A) Measurement = Evaluation + Assessment
(B) Evaluation = Measurement + Assessment
(C) Measurement = Evaluation
(D) Assessment = Measurement + Evaluation

HoATh Td HI9H o -4 o1 (Heior f o 9 fore 93 g wefia fopan S aeha 2 72
(A) T = Yeaieh + qe fetor (B) T = 7Y + qe ferfeor
(C) I = YeATeh (D) Wed FaRer = We + qeaieh
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Which of the following steps is not a part of “Project — Method” ?
(A) Creation of the situation (B) Selection of project
(C) Analysis of information (D) Evaluation of the project
=1 % @ o o1 ug yrir fafa s vmad R 2
(A) uftfeafa Sea=1 =6 | (B) WIS 1 994 |
(C) F=T T fergerwmn | (D) SIS 1 JeThA |

Which of the following suggestions were not presented for the continuous and
comprehensive evaluation of National Education Policy-1986 ?

(A) Evaluation should be aim-based.

(B) Nature of evaluation should be vast.

(C) Evaluation should be done regularly.

(D) Intensive training is not needed in making of question papers.

T fre ifd- 1986 H gexier i e 3R Sdeh s % 31=ia = g el feam w —
(A) TEATHT A& TG BT =T |

(B) T < TEY SATUh BT AT |

(C) TR T TRl ST TR |

(D) TS 0T T STEaATIehT < TE WITETOT Shi JATIYhdl 121 2 |

Which of the following is useful in class-room teaching comparative study ?
(A) Poster (B) Time lines

O
(C) Sketches (D) Graph T
T~ 1707 ¥ erTeHeh 3189 o fote Iuiht g @ - '
(A) UIEX (B) TWI-dTfetehid
(C) Yarrem (D) U
A student can learn about the culture and folk life of ancient and modern times through
(A) Tour (B) Museums
(C) Observation (D) All of the above
T T S I Sl SR Td Alh—SiiaH o, BT T8l €9 8 FH AT hidl 7, 98 T 8 —
(A) Wl (B) IR
(C) AR (D) 3uTrerd At
The newer, younger deposits of the flood plain in North-Indian plain, are known as —
(A) Bhanger (B) Khadar
(C) Bhabar (D) Terai
IH-YRA HeH | a1e i T3-an fat w1 s sran & —
(A) ¥R (B) @

(C) ¥R (D) @



136.

137.

138.

139.

140.

141.

(88) PL-2
Which is the most wide spread forest in India ?
(A) Tropical Deciduous forest (B) Tropical thorn forest
(C) Tropical evergreen forest (D) Montane forest
I H S5 | 9T ST ITel 9 i |1 8 ?
(A) SThfeaeiT qofaTd} o (B) 3Wrhieafid HiceR o
(C) 3IUTHETH HEEER I (D) e o
Which crop is known as “Golden Fibre” ?
(A) Cotton (B) Jute
(C) Hemp (D) Natural Silk
I Tt HH D! “GAGU WM 6 A9 H AHT AT 7
[OEA 0]
(A) T (B) T
EREE
€ @ (D) STl M
Metallic mineral pair is —
(A) Manganese — Copper (B) Copper — Graphite
(C) Iron— Mica (D) Mica — Dolomite
efeareh @i T ® —
(A) TS — e (B) el — UHTEL
(C) <&l — HAYh (D) Y — SAMTE
The biggest selling anti-cancer drug in the world is extracted from which plant in India ?
(A) Arjun (B) Himalayan Yew
(C) Sarpagandha (D) Axlewood
foroa o werg Srfers forepa areft Shae Teft 3fwfyr aid ® 19 @ Ne 8 wTed Bt 8 2
(A) 3TA (B) femrmerm ==
(C) wdwen (D) IHFEETIS
In the arid and semi-arid regions of Rajasthan, the word “Palar Pani” is used for —
(A) River water (B) Underground water
(C) Canal water (D) Rain water
TSTEAT o I o 318 -3[5h &A1 § “Urer-rt” 3reg forwreh foTe sger g g 7
(A) & A (B) Y[FTd S
(C) T« (D) NI
The biggest solar park of India is established in which district of Rajasthan ?
(A) Jodhpur (B) Jaisalmer
(C) Barmer (D) Bikaner
TR & i & el § Y 1 T8 981 Hier uTeh Lmfud fhan man g 7
(A) SUg (B) SEH

(C) WM (D) TR
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Match the following :
Festival District
(1) Camel festival (a) Jaisalmer
(2) Desert festival (b) Bikaner
(3) Kite festival (c) Udaipur
(4) Mewar festival (d) Jaipur

m @ 3 @
A b @ @ (o
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e =t gofera ifsre
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(1) 3 3Icad (a) TGN
(2) T®3IEd (b) R

(3) UdT IEd (c) 3L
(4) HIEIEE  (d) AW
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D) (@ @®) @ (o
Which of the following statements is false ?
(A) Jawahar Sagar Sanctuary is in Kota, Bundi, Chittorgarh.
(B) Kesar Bagh Wildlife Sanctuary is in Dholpur.
(C) Semi-tropical evergreen forests are also called monsoon forests.
(D) “Kalpvriksh of Rajasthan” is Rohida.
= 3 B o hu I R 7

(A) ETE TR S9N i, 96, e d 2 | [Ei5
(B) hEX I FISie STIN0T SR H 7 | Ll
(C) 371G IWTHICHENT TETagR 1 ol AL o +ff Had 2 |

(D) “TSEI™ &1 heugdd” TS 2 |

Which is not correctly matched ?

(A) Luni-Jojri (B) Banas — Menal

(C) Mahi— Banganga (D) Chambal — Parvati
i a1 TE gafera T8 8 ?

(A) ot —STreret (B) & — WA

(C) & — SORTT (D) =veel — Jradt
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Who built the “Varaha temple” at Pushkar near Ajmer ?
(A) AjayRaj (B) Aruno Raj
(C) Vigraharaj IV (D) Prithviraj Chauhan
IR o T fera gt | “arg Hiew” o famior ferem sheama
(A) SIS (B) 3T
(C) fomreers =g (D) e <item
Who was the political agent of princely State of Sirohi at the time of 1857 revolt in Rajasthan ?
(A) J.D.Hall (B) Eden
(C) Major Burton (D) Mac Mession
TSI | 1857 3l Fhifd < T RiE Fmad sl difcifeehel Toic ik AT 7
(A) .28 (B) A
(C) TSR&H (D) W BT
Motilal Tejawat was a resident of which village ?
(A) Falasiya (B) Samalia
(C) Colliery (D) Mangarh EE
AT dtrard fopd i o et o ? E’%ﬁf
(A) warE (B) @Mt
(C) Hifead (D) AT
Which literary work of Kanhaiya Lal Sethia was given Suryamal Mishran Award in 1987 ?
(A) Leeltans (B) Nirgrantha
(C) Dharti Dhora Ri (D) Shabd
1987 w1 FHeA s TehR heeamarret aifewn i fora arfaferes w1 feam w7
(A) eliereE (B) frfu
(C) ot e (D) Tag
“Hathal village” is associated with which princely state in the integration of Rajasthan ?
(A) Kishangarh (B) Jhalawar
(C) Pratapgarh (D) Sirohi
“BTUS TG T FEY TSTE o TShIhor H i &t fIEa A 81 s ?
(A) Treme (B) #AETS
(C) e (D) RR&

Governor General Lord William Bentinck named which fort as the second Gibraltar in the
world ?

(A) Mehrangarh (B) Nahargarh

(C) Siwana (D) Taragarh

TR e T faferem Sfées 3 fopm oot o1 gfvan o1 ggrar fsieet e @ 2
(A) HeUHTg (B) TTETTg

(C) Toamom (D) TRETG



PL-2 91)

Space For Rough Work / %<2t F F T wI=



92) PL-2

Space For Rough Work / %<2t F F T wI=



PL-2 93)

Space For Rough Work / %<2t F F T wI=



4 PL-2

Space For Rough Work / %<2t F F T wI=






PL-2/Sh-3

(96) PL-2
INSTRUCTIONS / féu
(Read carefully and comply / &9 & 9 3R e #%)
IMPORTANT / wieear ot

. In Section II (Language-I) a candidate has to attempt the questions of the language which the candidate has selected as Language-I in the

. In Section III (Language-II) a candidate has to attempt the questions of the language which the candidate has selected as Language-II in the

. The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place in the

. The candidate has t0 answer of that subject in Section (IV a) Mathematics and Science or (IV b) Social Studies as selected by the candidate

Online Appli F
@%1??(5%cstl%nsﬂ%r%maauaﬁﬁwwaﬁaﬁ%ﬁﬂwwwawﬁ%mml%mﬁmaﬁﬁwﬁﬁm%|

Online Application Form. The Language-II will be different from Language-1.
GUE [11 (TS~ 11) W6 ATETh T 1 b AT ST & IoT8 AT BT S SIS WIS - [[h &N AT ST1ae - T A R | e - 11 arer - 18 forea et |

OMR Answer Sheet. Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not
Question Bookleat%t Nfl%,'-mber fre 3 e T R ;. 2 iz .
e () 9 NAELG I h LiRE THE 5h. Ky | TR OMR I =T H{ATHT
- %mﬂ—mmwﬁmw.%ww%ml

in the Online Applicaton Form.
If a candidate answers the questions of the langu dge or subject other than selected in the Online Application Form, the candidate shall be
personally responsible _for it and it would be treated as wrong.
%mzﬁﬁsamﬁf W%ﬁg@m IV ) IO Td o an (v by amrioes sremaq 8 3d) fowa & usl & ed & 2, o fawg & =wmm seft
AT e - |
gﬁ%awa AT TG -U= | =wgfad 9T a1 fawa % WAt F e 7 G o fawa & wedl @1 g et @ ) 9g g i @ A e
qAT AT AT ST |

Read complete instructions carefully and fill the details from S1. No. 1 to 7 in the OMR Answer Sheet and S1. No. 1 to 4 in the Question
Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the consequences arising during
scanmeé of your OMR Answer Sheet.
TTH ﬁtmlﬁ7WOMRsﬁE®W1ﬁ4a$m—«rg%m(§aﬁsz)aﬁu%|uﬁmwaﬁ%%ﬁa¥w
‘mﬁmzﬁnwmﬁ% OMR <ffe it THTT & Fewasd g 9T TROmE & Fid T @ et g |
The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet, only then the candidates will open
the Question Booklet seals. Check whether the Booklet contains 150 questions starting from Page No. 3 to 90. The Shift Number required in
OMR Sheet will be as per admit card issued to the candidate and also mentioned on the top of the Questlon Booklet.
EECE T 96 I8 UL 150 W& © | Tt ey 57 9 & W € w9 - & "o wg gifeag = & T ge-gfeaan # 150
Tee § S 6 U8 e 3§y 90 @& &_| OMR ffe W firge TR gwredi @ SR 6l T8 793-99 & AGER sfeha Bl € T W
T -GfEqHT % SO AT R AT sifera R €I R |
All questions are of MCQ (Multiple Choice Question) type. There is only one correct answer to each question carrying one mark. There
will be no negative marking for wrong answers.
T3t we Tgfrmedia yER % & | o W o U fershed € A R | e e % fordt frarffia ofe w2 | o wrare 3 Rl ot ot et R wmi |
All questions other than language questions of Sections II and III shall be bilingual.
WH-YA & HINT G2 @8 11 T 111 & 9T o AfaiRed A8 a9 guet & we fgwrha g |
In any event of any mistake_in any question/s, candidates will not be penalized. However ng corrections will be made in question/s during the examination.
w9 7 ot e % fosd TreTa i fohEl WeRR T THETA et GITT | TXTTT ST ST 5 W1 # {ohel] TR T G el Beardl
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off from the
uestion Booklet. No additional paper shall be provided.
TR % TF h1d o W - s g TS S1 AT € | 38 WA -t @ 78 wie. | forelt yoer @t srfrfkad wne Suwes A€t waman s |
Use of Log tables, Calculator, Slide rule, Moblle phone, Pager, Dlgltal diary, Bluetooth, Microphone or any other electronic item/instrument
st ot glowed, Thelp e wil st n disqualficaion fore o S/ e 0 i At
, TES(1es I, ARG AT I YHR HT SEEu] ki
%Iﬁmﬂmqﬁm%mﬁﬁa%mmm% e ™
OMR Answer Sheet will be provided along with Question Booklet separately.
OMR ¢flc Us7-qeqeht & a19 SAfaierd Je i G%Tﬁ
The Question Booklet will be issued to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR
Answer Sheet. The Question Bookletseal shall be opened 5 minutes before the start of examination and the candidate must fill 1 to4 entries correctly
on the Question Booklet. After opening the Question Booklet, ensure that any page/ question is not missing / not printed / torn / repeated. In case,
you find any defect anywhere in the Question Booklet, immediately inform the Invigilator and get it replaced within 5 minutes by the Invigilator.
Warmn Bell will ring at 5 minutes before closer of examination and the last long bell will ring at closer of exammatlon
YT -TIRqHT URIEAT_STTEA T & 10 foe 4& of st | awaﬁmaswwﬁOMRaﬁzﬁwﬁu%&uﬁ YRR § W_| T -
g%wa?rﬂﬁa,qﬁmm% 5 foete v @ra qu) % w1 ¥ 4 1 wlafsedt wit Hﬁwﬁ%ﬁ |1;rs‘=r gﬁ:—lm@ﬂﬁ%qsamqﬁma'fw
gﬁﬁmaﬁ%wﬁﬁaﬁaww%/aﬁémﬂwaﬁﬁ% BUTE It B /AT Tg FE I AR 93 T © | TG A9A-
g%mﬁ R H HTE Ffe IIE ST T qehied STeqeh H AT Sﬁ:l'rﬁ_’a?“ﬁ'cl'{ & T AUAT T - eI chl dqvicuﬁ | ﬂdlddl‘il?ﬁ
WT%}%SWH@‘W@WW@Q%W LCEC
Write your Name, Exam Center Code, Signature, Roll No., Question Booklet Series Code, Shift Number and Question Paper Booklet Number
in the gpace pr0v1ded in the Questlon Booklet as well as in the OMR Answer Sheet.
- 1%'T:%OMR sffe R feiika =&\ W TW, T S B FE, TEIER, AHF, FE-IEaw €W Fi5, fEe FwHie w@ v giea
ShHTeh 3ifehd |
With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find out which
answer, according to you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR Answer Sheet corresponding
to the question. For marking answers use blue/black ballpoint pen only Gel pens/pencils are not allowed.
3T o TR deh (9% SR A, B, CI DH Q@I E_| AT ang IR BT FIT X I8 IR & OMR e H G {7 Wt shTeh o awed
Tﬁéﬁmwsﬁmﬁ|wﬁaﬁaaﬁ%%ﬁﬁ%mmwwﬁ?wéw&ﬁ®|§Eﬁﬂmﬁﬁr«saﬂ affa® |

Correct Method : [ corrECT /st Wrong Method : [ wroNG /e WRONG /e WRONG /et WRONG / e

i 000 @| ™™ ROOO||oQ00o||0o000O||CeC e

OMR Answer Sheet is designed for computer evaluation. If you donot follow the instructions given above and at the backside ofthe OMR Answer
Sheet, 1t m make evaluation b}é;computer dlfﬁcult Any resultant loss to the candldate on the above account shall be of the candidate only.

OMRS Egﬁ OMR ¢fie s fuee fea T fgant TE R, T B TIRT STIhT
%|wwﬁqﬁmﬁﬁ%ﬁ s ﬁ%ﬁwﬁm @?W e B

No candldate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the
left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy (Duplicate) so that the Original Copy is not mutilated
in any way. Candidate should handover the Original OMR Copy and Question Booklet to the invigilator before leaving the examination hall.
Candidate can carry only the Candldate s OMR [} w1th him/her. Questlon Booklet i 1s not allowed to be taken by the candidate.
TE Rredf STt Hel TSI b qd URien HE H TR IOMRQ mﬁi’-{ a%ﬁ%was TRERYA feRaT
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